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Time Allowed : Three Hours Maximum Marks : 250

907 % foru i srgem

T T¥A1 & I 34 @ YF [AoTRaT T e &1 SIS UG

3G ong v & o 31 @uet 4 fayrfor & aer @t sk st @il F w9 &

gierrelf 1 T aier Fo91 & I G & /

yo7 gegr 1 35 W?WW##WW#W—#—WWWWI%—@?#W%WW/
Y% JU/YIT F 3k 3G G 3T T E |

yol & I FH HEIH F @ S wilev g 3g@ 379 FAV-uF H 197 T 8, 3 39 ureIH &7 e 3gE
ToT-TE-F (T H.T.) JoH F yE-y3 W R w7 W 97 1 =ik | IR arean & Sfafds 5= e
qrey F for@ e I W FIE 7 78 MAT |

v & wieg g, 5T [FEEE 8, HT G [T T IR |

I3 TFVTF &, T IYYH HiFS] FT TIT BT, TIT ITH] [Hiae HAT |

S & FRT #1 T FHHFER & A | IR FeT T8 8, @l 39 & FR B 701 &) A =g 98 I S [ =
gl | JvT-TE-I GiEreh] § @It DIgT §3T Y8 a7 35 379 @ TF &7 & HeT THT qeT /|

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and § are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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Qus A
SECTION A

Q1. T=feRas & & T &1 I o 150 vreet # iR ;

Answer the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

STH-P-LOMA

foesft gg1 ol @ wref WY SEmR qEeRl % WEYE! @ heH
i |

State the provisions of Indian Accounting Standards regarding Foreign

Exchange Transactions.

Al o ST YAt T A g % e fave i |

Distinguish  between Internal Reconstruction and External

Reconstruction of Companies.

‘Sagiica g’ ! gRHTd HIfT | 39eh fofie gl =) wawe il |

Define ‘Responsibility Centre’. Explain its various types.

“Uar U W us feouuft forfige |

Write a note on ‘Service Tax’.

“aﬁﬁwmmé’m%é@qﬁwww%ﬁ@m%%f’
HAATRT |

“Verification of Advances is an important function of an auditor of a

Bank.” Explain.

10x5=50

10

10

10
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Q2. (a) Tehw T, g drehw T, & 31.12.2013 &l gor-ua F=ferfaa o -
S Tehy o, | erew . et Ty . | <k fa
T T 4 T

St SR feer Py (G
(s R = 10) | B00,000| 4,00,000|3 opy 5,00,000| 3,50,000
et 1,50,000| 1,00,000 [fershar Teieh 95,000\ 75,000
AT <@ 75,000  60,000|3TER 1,40,000| 1,00,000
fafay e 37,500 30,000 T3 Td s 1,17,500| 60,000
IR =g 10,000 5,000
8,62,500| 5,90,000 8,62,500| 5,90,000

gy 9. 3 &reher &9, &1 1.7.2014 1 foema e | s1feer & @9 areft
TR 1 dlhy . &1 qoH-99 dUR T8 fohem mm oem | R meRt
Frafafaa SepiET 3oy s St &

(i)  30.6.2014 I 7 BH T B8 HaHl H Ahy . 7 FOR woufgai «
10% a1 G ¥ HeIgld @l YIEUH 6o o o1 T 60,000 H1 o
o 3T feRa |

i) 3 smafy # wehw fa. 7 for vt | 10% a1fvs @ A Joas™
T o 99T T 1,45,000 1 et ey a1fsia feram |

(iii)  1.4.2014 I ST HEARIT 9 10% areren foafa fepam o |

JNY afSrer O a9 g &% == s B =7 armhe T (e
\Lv ) Mt ™M b | NI MiINdl = ha KA | A H e Ela | INT. M V_l\s"lll (AN 3 [ B | \\5\3"1\'}

T 25,000 o7 AT IR TEA(T 73 Fob Afereem # 9 areht fafsr = Aiew
fA. = &l $I T 15,000 8 qeadfg i Smar |

(v) Tk f1. & g ok fa. =t aftrerr o areft fafsr ox Sl & srawita
Hed o YR 9T W T AT 1 7 |

ATHEA o T TehdT % T G- R IR |

STH-P-COMA 3
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The Balance Sheets of Rakesh Ltd. and Lokesh Ltd. as at 31.12.2013
were as follows :

Rakesh | Lokesh Rakesh | Lokesh
Liabilities Ltd. Ltd. |Assets Ltd. Ltd.
- L T R
Equity Share Capital Fixed Assets (other ;
(Shares of 10 each) 6,00,000 4,00,.000 e Goodvedlil 5,00,000| 3,50,000
Reserves 1,50,000| 1,00,000({Stock-in-trade 95,000 75,000
Profit and Loss A/c 75,000 60,000(Debtors 1,40,000{ 1,00,000
Sundry Creditors 37,500 30,000(Cash and Bank 1,17,500 60,000
Preliminary
Expenses 10,000 5,000
8,62,500| 5,90,000 8,62,500| 5,90,000

Rakesh Ltd. took over and absorbed Lokesh Ltd. as on 1.7.2014. No
~ balance sheet of Lokesh Ltd. was prepared on the date of takeover, but
the following information is made available to you :

(1) In the six months ended 30.6.2014 Lokesh Ltd. made a net profit
of T 60,000 after providing for depreciation at 10% per annum on
fixed assets.

(ii)) Rakesh Ltd. during that period made a net profit of ¥ 1,45,000
after providing for depreciation at 10% per annum on the fixed
assets.

(iii) Both the companies had distributed dividends of 10% on 1.4.2014.

(iv)  Goodwill of Lokesh Ltd. on the date of takeover was estimated at
T 25,000 and it was agreed that the stocks of Lokesh Ltd. Would
be appreciated by ¥ 15,000 on the date of takeover.

(v) Rakesh Ltd. to issue shares to Lokesh Ltd. on the basis of ‘the
intrinsic value of the shares on the date of takeover.

Prepare the Balance Sheet of Rakesh Ltd. after absorption. 20
(b) Taves @A faeerun, fofem o fora TR g™ gar 8 2
How is Differential Cost Analysis helpful in decision-making ? 15

(0 “emme s, 1961 % el HUST 1T % SiieN W aTaTe ey
ST 39T 99T BT 8 |7 == shifoie |

“Residential status has its effect on computation of taxable income
under the Income Tax Act, 1961.” Discuss. 15

STH-P-LOMA 4
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Uk I, S @l Icq1E s 2, U 9y o fou fyeAfaiaa stiehe Sd Ll
2
~ | spF ATl hT | Qe-3mi hi
IqTE | ofier ScqteT (3918) | ol mEiA = & e et T
G2 5,000 20,000 160 20
el 60,000 1,20,000 384 44
aTier Iufery ffafaa 2 -
T
T Ersf-erg iafater emrd 5,50,000
Te-319 TEfEd AT 8,20,000
9 graf-ad AnTd 6,18,000
SAT9ehT
G) 3Ty sl uvTid R <ht grufis fafer
Gi)  Teramerera smunia @ma et fafy

¥ IUR T IAF 3AE F 3R @ 1 ufd geh1s ANTd &l IRehed T 8 |

A company manufacturing two products furnishes the following data for

a year :
T s Annual Total Machine| Total Number of |Total Number
roduc
" Output (units) Hours Purchase Orders of Set-ups
A 5,000 20,000 160 20
B 60,000 1,20,000 384 44
The annual overheads are as under
=
Volume related activity costs 5,50,000
Set-up related costs 8,20,000
Purchase related costs 6,18,000

You are required to calculate the cost per unit of each product ‘A’ and ‘B’

based on

(1)

Traditional method of charging overheads

(ii) Activity based costing method

g

15
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(b)

(c)
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BT o (oY QT T qAT GTeRT0] HHeh! & TEEMT W ==t $Hifu |

Discuss the provisions of Indian Accounting Standards on Accounting for
Depreciation. 15

sfmm X’ 3 8 wefoEi ‘A7 o B’ % @t § | 39 g weaRy ‘A7 & s
T o T fopen S @ safes @l ‘B’ @ facfi e 2016 - 17 % form

forRIgrR =1 = 15,000 T1fEes TR @ & St & | gREl & gy § o
ferawor fafeafaa 2

fereror gty ‘A’ gty ‘B’
RIS Jeieh F 30,000 ¥ 50,000
feptran forersror stfafem & sr=rfa @k fohtan | = 40,000 T 1,00,000
S X & g T UGIC] < 8,000 T 24,000
STV S T YA 6,000 T 18,000
fwior quf g <6t feifer 31.3.2010 31.8.2013
TSARrpa S & wrafat o fmio & forg g

T T ST Z 70,000 T 1,20,000
a1t sffmr < Hfiftem T 1,500 ¥ 3,000
feferfaa sifafea FeATe Suersy 2 -

() @ ‘B’ fmiv % fore, fofe e g e W 1,20,000 % = A @
31.3.2017 %! T 30,000 T SIS ST <F AT |

(i) e X’ T 50,000 fi A8 % da9 W M T 10,000 If HE AT W™
w u st for. gro s fobr o

(ili) 38 9 &% EE T 1,50,000 HT H Th Al gE HY, S A H
FffEH, 1961 i 910 80G o 7efT TgHifed 8, faam |

(iv) 384 99 & gRE T 7,500 A9 TTEey qhien X @9 fhU |

Mqeh! T gl o 2017 - 18 & fow, #fmm X 1 Fa sl am H
HfYhe T B |
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Mr. X’ owns two house properties, ‘A’ and ‘B’. Property ‘A’ is used by him
for his own residential purpose, whereas property ‘B’ is let out to a
tenant for a monthly rent of T 15,000 throughout the financial year
2016 — 17. The other particulars in respect of the properties are as

Your P

r Personal Exams Guide

under :

Particulars Property ‘A’ | Property ‘B’
Municipal Valuation ¥ 30,000 < 50,000

Standard Rent under Rent Control Act ¥ 40,000 < 1,00,000

Municipal Taxes paid by Mr. X’ ¥ 8,000 T 24,000

Maintenance Charges paid < 6,000 T 18,000

Date of completion of construction 31.3.2010 31.8.2013

Interest on home loans for construction of

properties from Nationalised Bank < 70,000 ¥ 1,20,000

1,500 Z 3,000

Fire Insurance Premium Payable

The following further information is available :

(1) Out of interest of ¥ 1,20,000 on home loan taken for construction
of property ‘B’, an amount of ¥ 30,000 was outstanding payable as

at 31.3.2017.

(ii)

Mr. X was employed by ABC Ltd. on a monthly salary of

T 50,000 plus monthly travelling allowance of ¥ 10,000.

(iii)

He donated during the year ¥ 1,50,000 to a charitable trust

approved under Section 80G of the Income Tax Act, 1961.

(iv)

You are required to compute Total Taxable Income of Mr. X’ for the

Assessment Year 2017 — 18.

He spent ¥ 7,500 for his health check-up during the year.

epp
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Q4. (a)

(b)

(c)

STH-P-LOMA

Th S 1 AT Teh UTeh & H9l & (o Toh TG WIed 3N § | M9 ¥
I AR & 37 TTEh & W@l h FE-g8qd H 2 | 3 gl w oy
Ity oA T 19 3191 & shigd e =g |

A bank has received an application from a customer for a loan. You have
to investigate on behalf of the bank the accounts of the customer.

Highlight those points you would like to concentrate upon.

THHR S, ‘qEMH IeAd’ IR ‘HuHmE UMIREr s g
I | AT 6 yshn ara-fuior § s fha yer fefia e s @
Define ‘Normal Wastage’, ‘Abnormal Wastage’ and ‘Abnormal

Effectiveness’. State how these are treated in Process Costing.

N A’ o frar @ S 2015 F TF STARA 8 %1 SHURR W
foha | 58 e Wt 37k o 3 9 1979 % T 70,000 i A W @l o1 |
#HH ‘A’ T HEH B ST 2016 H T 17,00,000 % Wiiher T swn 3R dofiga
Tdlheh 4 FH HBM T HoATHA 1.4.1981 H T 1,00,000 FFm |«

qerebifa gaehiss (9.9, ) frfofad 2
forcia ad RIRCIERC S
1981 - 82 100
2015 - 16 1000
2016 — 17 1200

P o 2017 - 18 % Rre G atfirem @ s i o B | 30
S T H T R A A’ % g R S A e, o B
8, &1 gara +ft i |

15
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Mr. ‘A’ inherited a residential house from his father in January 2015.
His father had bought the said house in the year 1979 at a cost of
T 70,000. Mr. ‘A’ sold the house in June 2016 for a sale consideration of
T 17,00,000 and the registered valuer has valued the said house at
T 1,00,000 as at 1.4.1981. The Cost Inflation Index (CII) is as under :

Financial Year CII
1981 — 82 100
2015 - 16 1000
2016 - 17 1200

You are required to compute the income from capital gains for the
Assessment Year 2017 — 18. Also suggest the actions, if any, that may be
taken by Mr. ‘A’ to avoid tax on capital gains. , 20

STH-P-COMA g
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_ SECTION B
Q5. TmAferRaa ® o Uk &1 ST TN 150 vrsat § difTu
Answer the following in about 150 words each : 10x5=50

(a)

(b)

(c)

(d)

(e)

Q6. (a)

STH-P-LOMA

“foriia TERE T @& oY SrRreharie B § |7 SIS e
HIT |

“Profit maximisation is the goal of Financial Management.” Critically
examine.

forfta frort & SiRaw-aftafsy & e gqem womar w ==t $ifsm |

Discuss the Risk-Return Trade-off in financial decisions.

el SR AR G5 9T9R & &= faves hifsg |
Distinguish between Money Market and Capital Market.

FHrfi o foem 4 fafre sgue = fuifa w0 ) Tfie e 6 @
Discuss the various methods of deciding exchange ratio in merger of
companies.

SIF gTee W gRT Saifad fohe e godieh wiHe 1 o Hife | s 19
Toh i oft =men SISy |

State the valuation formula put forward by James Walter. Also explain
the logic behind it.

Teh ST Ty’ Y 2600 gepzat afd o 2,000 9 e T T S=d
2 | 9fd 3T AT & e ferfafag € -

X
ST | TS Uk gt 800
Jeaet Asigdl 400
Suftery @ 400

ey @l # qeawr o T 2:60 @ ot wiEifra § | WAt smEm W R
IY IcUTe G ®9 Y S @1 2 | 9ot s 3UR W e ¥ | usH ¥ gy
o gl &1 go R ST @ |

/)

10

10

10

10

10
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(b)

(c)

STH-P-LOMA

et stfafera s ot Suasy § -
sitga rarer
edl U Ue Ofeh gnmft wer o | 4 FT8
91e] e (ARl 100%, 99 TE 39T 50%) 1 9T
ffda a= 1 98
TSR I 39 Y gwfd 6 FwiTg
TARR gRT 3R T 1At 4§18

ST TET S ATl Fohe 39 T 60,000 2 |
Frot & fore fraer wrefEfia 36 saweehar &1 aitehed HIT |

A company sells 2600 units of ‘Mixer’ at ¥ 2,000 each, annually. The
details of cost per unit are as follows :

=3
Raw and Packing Materials 800
Direct Wages 400"
Overhead Expenses 400

Overhead expenses include ¥ 2-60 lakhs on depreciation. Production is

evenly maintained over the year, on a weekly basis. All sales are on
credit. Materials are introduced at the beginning of the process.

The following additional information is also available :

Average Period
Raw Material and Packing Materials in stock 4 weeks
Work-in-Progress (Material 100%, Labour
and Overheads 50%) 1 week
Finished Goods 1 week
Credit Allowed to Debtors 6 weeks
Credit Allowed by Suppliers 4 weeks
Cash balance to be maintained is T 60,000.
Calculate the Net Working Capital Requirements of the company. 20

oht T 3 fafer D e B e iR |

Discuss the role of SEBI in regulating the Capital Market. 15
it T R HIR | STt Tl e R ATl iRl o s
hifsrg qem gt Twifm At feufaat =1 off sasy |

Define Capital Rationing. Explain the factors leading to Capital
Rationing and also state the situations of Capital Rationing. 15

I
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Q7. (a)

(b)

(c)

STH-P-LOMA

31.3.2016 I THT BH 911 98 & oI ‘Tewr ot for.” @ geafeem S
ﬁm%ﬁ?ﬁ%

-
Sfoerdl SRR et (Y% T 10) 50 AT@
12% §i€ &% T 1,000 1 37 @
faspa 84 ATE
feor @A (IS 1 Big) 6-:96 ATE
IESIRRSIEIS] 1-49
Y HTAT ST 27-55%
AT A \ 40%

19! IR HET 3

()  SETe e

(i) EIH oS

Gii) 9fd 2 e

The following information is related to ‘Alpha Co. Ltd.” for the year
ended 31.3.2016 :

X
Equity Share Capital (¥ 10 each) 50 lakhs
12% Bonds of T 1,000 each 37 lakhs
Sales 84 lakhs
Fixed Cost (excluding interest) 6:96 lakhs
Financial Leverage 1-49
Profit Volume Ratio 27-55%
Income Tax Applicable 40%

You are required to calculate

(i) Operating Leverage

(i1)) Combined Leverage

(iii) Earning Per Share 20
SUR YEY% o G T or@rati i Ifeufa ot goed & srgdieror § swmre &l

S Tt qeheileh! sl T8 HIFTT |

Explain the techniques used by the Credit Manager in monitoring the
status and the composition of Accounts Receivables. 15

HAR Y9 T FAT 8 2 AR I F T N 3qh fiad % forg
od3rt 7 T HR |

What is Commercial Paper ? Explain its significance and the
pre-conditions for the issue of Commercial Paper. 15

/4
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Q8. (a)
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wa.%. f7. % 31.3.2014 37 31.3.2015 % qeq-9 Fefafad €
N 31.3%2014 31.3.?2015
serard] 2 4ol 75,00,000 |- 1,02,50,000
| e ffer 42,50,000 |  50,00,000
AT T 15,00,000 18,75,000
13% U9 Tesh T 100 T 58,00,000 43,50,000
=] gqdTe 30,00,000 32.50,000
AT SATHTST 7,50,000 9,10,000
A L % fIT grauH 22,50,000 24,75,000
Egl 2,50,50,000 | 2,81,10,000
et 31.3.2014 | 31.3.2015
T 3
giH 10,00,000 7,75,000
EGRSIRE 68,00,000 |  61,20,000
R RCREIE ] 75,12,000 | 1,07,95,000
[GER! 25,00,000 21,25,000
Tk 33,00,000 27,50,000
Foft 24.,45,000 36,20,000
T Td S 14,93,000 19,25,000
& 2,50,50,000 | 2,81,10,000
F=fRaa s1fafes gEaTe 3uersy § -

(1)

(ii)

(iii)

(iv)

2014 - 15 focfir ad & wraft 9 o0 o9 W sfaadt e w1 fime

foram |

OTAT T 1.4.2014 1 10% Hiftrew w2 fami=m fopam |

$o Maw ® T 75,000 H AH W = AT AT R ATH H HH
rfara fftr Srar # shfge fomam mam |
¥ § T 23,50,000 h AN Arelt YU T T T 6,25,000 A &=

T | BIYd qed T 8,00,000 o |
13
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(v) EI= Td A o TR WY W 20% Jeus™ AT 8 |
(vi) ffr Td wae &1 g A A1 fase & o | |

(vii) =¥ o SHE T 4,50,000 T & &L= ram T o |

31.8.2015 ! AT B I 99 o oI, 3TUehl Tehe! TaT8 faemor S e

2 |
The Balance Sheets of S.K. Ltd. as at 31.3.2014 and 31.3.2015 are as
under :
Liabilities 31.3%2014 31.3.?2015
Equity Share Capital 75,00,000 1,02,50,000
General Reserve 42,50,000 50,00,000
Profit and Loss Account 15,00,000 18,75,000
13% Debentures of ¥ 100 each 58,00,000 43,50,000
Current Liabilities | 30,00,000 |  32,50,000
Proposed Dividend 7,50,000 9,10,000
Provision for Income Tax 22,50,000 24,75,000
Total 2,50,50,000 | 2,81,10,000
o 31.3.2014 31.3.2015
i v
Goodwill 10,00,000 7,75,000
Land and Building 68,00,000 61,20,000
| Plant and Machinery 75,12,000 1,07,95,000
Investment 25,00,000 21,25,000
Stock 33,00,000 27,50,000
Debtors 24,45,000 36,20,000
Cash and Bank 14,93,000 1‘9,25,000
Total 2,60,50,000 | 2,81,10,000
/4
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(b)

(c)

TH-P-LOMA

The following additional information is available :

(1)

(i1)

(iii)

(iv)

(v)

(vi)

(vii)

During the financial year 2014 — 15, the company issued equity
shares at par.

Debentures were redeemed on 1.4.2014 at a premium of 10%.

Some investments were sold at a profit of T 75,000 and the profit
was credited to General Reserve Account.

During the year, an old machine costing ¥ 23,50,000 was sold for
¥ 6,25,000. Its written down value was ¥ 8,00,000.

Depreciation is to be provided on plant and machinei‘y at 20% on
the opening balance.

There was no purchase or sale of land and building.

Provision for tax made during the year was ¥ 4,50,000.

You are required to prepare a Cash Flow Statement for the year ended
31.3.2015.

‘SRt Yot §rEAT oKl g i | B A sggeay IS dEr &
et o gea femml &t faaemn $ifvm |

Define ‘Optimum Capital Structure’. Discuss the major considerations in
the Optimum Capital Structure planning of a firm.

Freafafad e 3ruTal & Weve %l qHEEy

@)  wuEfFEd g
(i) dcehrd (F@ FafRvr) sy
(iii) W TEd T
(iv) Y= AT 3TITd
(v) =] AT
Explain the significance of the following Accounting Ratios
(i) Debt-Equity Ratio
(i1) Acid Test Ratio
(111) Inventory Turnover Ratio
(iv) Operating Profit Ratio
(v) Current Ratio
13
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